Sumar Enteros (H)

Emplee una estrategia de enteros para encontrar cada respuesta.

13+10= -44 + 35 = 59 +97 =
-68 + -98 = -6 +70 = -70 + 53 =
58 +-18 = 15+71= 48 + -63 =
-89 +-76 = -75 +-60 = -74 + 93 =
23 +-98 = -56 +-82 = 54 +-49 =
5+37= -18 +-34 = -10+6 =
-61 + 23 = -88 + 36 = -23+47 =
-48 + 79 = 81 +68= 40 + -36 =
-96 + -54 = -78 + 81 = 35+61=
93 +98 = -12+-37 = 4 +81=
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Sumar Enteros (H) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

13+10=
=23

-68 +-98 =
=-166

23 +-98 =

5+37=

=42

-61 +23 =
-38

-48 + 79 =
=31

-96 +-54 =
=-150

93 +98 =
=191

-44 + 35 =

18 +-34 =

-88 + 36 =
-52

81 +68 =
=149

-78 +81 =

12 +-37 =
-49

59 +97 =
=156

.70 +53 =
=-17

48 +-63 =
=-15

-74 + 93 =
=19
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